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Question 1 continued. - -
4. Which of these graphs has an Euler cycle?
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6. (a) 3 points) Show that for G a conmected simple planar graph contain-

ing a cycle if G has B edges and F' faces, then 2F > 3F.
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(b) (3 points) Show tha,t- for G a connected simple planar graph contain-
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(c) (4 points) Is the following graph planar? If it is give a planar drawing
of it. If not, prove that it is not planar.
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7. (a) (® points) Show that for alln > 1, 77— { ig divisible by 6.
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8. A balanced binary tree 18 a binary tree where for each vertex the heights
of the left and right subtrees of that vertex differ by & most one. Let
v, denote the minimum number of vertices in a balanced binary tree of
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(c) (3 points) Show that v, = O(¢™+?), where ¢ = =5
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9. (a) (4 points) Show that > ;g 2H(7) = 3™
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